Dividing Radical Expressions
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You can do the roots first QR You can reduce the fraction first
then simplify the fraction then do the root.

Simplify. Assume that all variables are positive.
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reduce the fraction.

Simplify. Assume that all variables are positive.

J24xy" 2Yx°4"

7

) DX

3xy* J
Since | don't see - g) 7 6]
perfect squares under X 9—
the radicals I'll reduce Y.,
the fraction first then

y

do the square root. - 2z
XYy

Simplify. Assume that all variables are positive.
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Simplify. Assume that all variables are positive. Simplify. Assume that all variables are positive.
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You can now finish Hwk #34
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Problems 14-16, 19, 21, 25, 26, 44, 45



